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QUESTION 1

Consider the following Kubernetes Deployment:

NAME DESIRED CURRENT UP-TO-DATE AVAILABLE AGE
myapp 5 5 5 4] 25m

With the ReplicaSet:

NAME DESIRED CURRENT READY AGE
myapp-2706294940 5 5 5 25m

And the Pods:

NAME READY  STATUS RESTARTS AGE
myapp-2706294940-bzxmp 1/1 Running 0 20m
myapp-2706294940-c2ktl 1/1 Running 0 31s
myapp-2706294940-d556m 1/1 Running 0 20m
myapp-2706294940-1viq2 1/1 Running 0 31s
myapp-2706294940-pwm8g  1/1 Running 0 31s

What happens if one of the Pods is terminated with the command kubectl pod delete?
A. The remaining Pods are stopped and the Deployment switches to the state Failed.
B. The number of replicas in the ReplicaSet is changed to 4.

C. The ReplicaSet immediately starts a new replacement Pod.

D. The remaining Pods are stopped and a new ReplicaSet is started.

E. The Deployment switches to the state Degraded.

Correct Answer: C

QUESTION 2
How does Packer interact with system images?

A. Packer creates an instance based on a source image, prepares the instance through a network connection and
bundles the resulting.

B. Packer has to be installed within the target image and is executed during the image\\'s first boot in order to execute
preparation tasks.
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C. Packer installs a client within the image which has to be run periodically via cron in order to retrieve the latest
template from the Packer server and appy it locally.

D. Packer downloads and extracts an image in order to make changes to the image\\'s file system, repack the modified
image and upload it again.

E. Packer periodically connects through the network to the Packer daemons of all running Packer images in order to re-
apply the wholw template to the running instance.

Correct Answer: A

QUESTION 3

An online shop needs to store information about clients and orders. A list of fixed properties for clients and orders exists.
The data storage should enforce specific data types on these properties and ensure that each order is associated with
an existing client.

Which of the following cloud services is capable of fulfilling these requirements?

A. An in-memory database like memcached.

B. An object store like OpenStack Swift.

C. A messaging service like OpenStack Zagar.

D. A NoSQL database like MongoDB.

E. A relational database like MariaDB.

Correct Answer: B

QUESTION 4

Which sub command of docker volumen deletes all volumes which are not associated with a container? (Specify ONLY
the sub command without any path or parameterr)

A. Docker does not have a specific sub-command to delete all volumes that are not associated with a container. To
delete volumes that are not associated with a container, you can use the docker volume Is command to list all volumes
and then manually identify the volumes that are not associated with any container. Once identified, you can use the
docker volume rm command followed by the volume name or ID to delete each volume individually.

Correct Answer: A

QUESTION 5

Which of the following kinds of data can cloud-init process directly from user-data? (Choose THREE correct answers)
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A. ISO images to boot from

B. Cloud-config declarations in YAML

C. Base64-encoded binary files to execute
D. Shell scripts to execute

E. List of URLSs to import

Correct Answer: BCD
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